Division of Corporations

10100006569 <u>tate fi.us/scripts/cfilcovr.cx</u>

Florida Department of State

Division of Corporations Public Access System Katherine Harris, Secretary of State

Electronic Filing Cover Sheet

Note: Please print this page and use it as a cover sheet. Type the fax audit number (shown below) on the top and bottom of all pages of the document.

(((H01000078163 2)))

Note: DO NOT hit the REFRESH/RELOAD button on your browser from this page. Doing so will generate another cover sheet.

To:

Division of Corporations

Fax Number

: (850)205-0381

From:

Account Name : EMPIRE CORPORATE KIT COMPANY

Account Number: 072450003255 Phone

: (305)634-3694

Fax Number

: (305)633-9696

FLORIDA PROFIT CORPORATION OR P.A.

GUILFORD & RASH, P.A.

Certificate of Status	0
Certified Copy	1
Page Count	04
Estimated Charge	\$78.75

7/2/01 6:18 PA

EFFECTIVE DATE

7-1-01

H 01000078163



ARTICLES OF INCORPORATION OF GUILFORD & RASH, P.A.

7-1-01

The undersigned incorporator, for purposes of forming a Professional Service Corporation under Chapter 621 of the Florida Statutes, hereby adopt the following Articles of Incorporation:

ARTICLE I - NAME

The name of this corporation is GUILFORD & RASH, P.A.

ARTICLE II - EXISTENCE

This corporation shall exist perpetually, commencing on July 1, 2001.

ARTICLE III - PURPOSE

This corporation is organized for the purpose of transacting any and all business related to the practice of law.

ARTICLE IV - CAPITAL STOCK

This corporation is authorized to issue 500 shares of \$1.00 par value common stock.

ARTICLE V - INITIAL REGISTERED AGENT AND ADDRESS

The street address of the initial principle office of this corporation is Courthouse Tower, Suite 750, 44 West Flagler Street, Miami, Florida, 33130, and the name of the initial registered agent of this corporation is DAVID C. RASH.

ARTICLE VI - BOARD OF DIRECTORS

This corporation shall have two (2) board of directors initially. The number of directors may either be increased or diminished from time to time by the by-laws but shall never be less than two. The names and addresses of the initial board of directors of this corporation are:

Name

<u>Address</u>

MICHAEL F. GUILFORD

Courthouse Tower Suite 750 44 West Flagler Street Miami, Florida 33130

M 01000078163

SECRETARY OF STATE ONE DIVISION OF CORPORATIONS

DAVID C. RASH

Courthouse Tower

Suite 750

44 West Flagler Street Miami, Florida 33130

ARTICLE VII - OFFICERS

The names and addresses of the officers of this corporation shall be:

<u>Name</u>	<u>Address</u>
MICHAEL F. GUILFORD President Secretary	Courthouse Tower Suite 750 44 West Flagler Street Miami, Florida 33130
DAVID C. RASH Vice President Treasurer	Courthouse Tower Suite 750 44 West Flagler Street Miami, Florida 33130

ARTICLE VIII - INCORPORATOR

The name and address of the incorporator to these Article of Incorporation is:

Name	Address
DAVID C. RASH	Courthouse Tower Suite 750 44 West Flagler Street Miami, Florida 33130

ARTICLE IX - INDEMNIFICATION

The corporation shall indemnify any director or officer, or any former director or officer, to the full extent permitted by law.

ARTICLE X - SMALL BUSINESS CORPORATION DESIGNATION

This corporation shall be a "small business corporation" as defined in IRA Section 1244 (c).

H 01000078103

ARTICLE XI - RESERVATION OF RIGHTS

This corporation reserves the right to amend or repeal any provisions contained in these Articles of Incorporation, or any amendment hereto, and any right conferred upon the shareholders is subject to this reservation.

IN WITNESS WHEREOF, the undersigned subscriber has executed these Article of Incorporation this 2nd day of July 2001.

GUILFORD & RASH, P.A.

DAVID C. RASH

STATE OF FLORIDA

SS

COUNTY OF MIAMI-DADE

The foregoing Articles of Incorporation were acknowledged before me this 2nd day of July 2001, by DAVID C. RASH, Subscriber, who is personally known to me and who did take an oath.

McReidys Cosolvillo

My COMMISSION # DD005122 EUPRES
February 20, 2005
FORDE BAU WITH FAIN MEDICANCE INC

NOTARY PUBLIC STATE OF FLORIDA AT LARGE

(Signed)

(Printed)

Mailedys Carabilla

My commission expires:

CERTIFICATE OF DESIGNATION REGISTERED AGENT/REGISTERED OFFICE

Having been named as Registered Agent and to accept service of process for the above stated corporation, at the place designated in these Articles of Incorporation, I hereby accept the appointment as Registered Agent and agree to act in this capacity. I further agree to comply with the provisions of all statutes relating to the proper and complete performance of my duties, and I am familiar with the and accept the obligations of my position as Registered Agent.

DAVID C. RASH Registered Agent

H 01000078163